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1. An electron moves in a circular path perpendicular to a uniform magnetic field with a magnitude of 

3.00 mT. If the speed of the electron is 2.50 x 1 o7 m/s, determine 

a. the radius of the circular path and 

b. the time interval required to complete one revolution. 
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2. In Figure 2, the current in the long straight wire is 11 = 2.00 A and the 
wire lies in the plane of the rectangular loop, which carries a current 12 = 
6.00 A. The dimensions in the figure are c = 1.00 m, a = 1.50 m, and b = 
2.00 m. Find the magnitude and direction of the net force exerted on 11 

loop by the magnetic field created by the wire. 

a. Magnitude 

b. Direction 
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Figure 2 
11 = 2.00 A 
12 = 6.00 A 
a= 1.5 m 
b = 2.00 m 
C = 1.00 m 



3. Given the uniform magnetic field , 

-- - -B=2 y+ 2 z 

Find the magnetic flux passing through the rectangle lying in the 
x-y plane as shown in Figure 3. 
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Figure 3 




